PHYS 1312 Fall 2018 Final Exam: Equation Sheet

Test 1 equations
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Test 3 equations
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Math relations and constants

A-B =|A||B|cost = (A,B, + A,B, + A.B.) (33)
|A x B| = |A||B|sinf (34)
A B = ((A4yB. = A:B,), ~(AB. = A.B,), (4B, — A,B.) ) (35)
sin(A £+ B) = sin Acos B & cos Asin B (36)
cos(A £+ B) = cos Acos B Fsin Asin B (37)
sinA+sinB:2sin(A—;B) COS(A;B> (38)
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Circumference = 2rr A= V = §7TT3 (44)
c=3x10°m/s k,=28.99 x 10 Nm?/C? ¢, = 8.854 x 107'% C?/(Nm?) (45)
e=1602x107""C m,=911x10"" kg kp=138x10"#J/K (46)
%; =1x107" Tm/A m,=1672x10"*" kg pup= ;Z =9.274 x 107 Am?  (47)



